spl = {1, 0};

patl = {1, 0, 1, 0};

pat2 = {1, 1, 0, 0};

pat3 = {1, 1, 0, 0, 1, 1};
(xsanpl e space 2x)

sp2 = {0, 1, 2};

prob2 = {1/2, 1/3, 1/6};
pat4 = {0, 2, 0};

pat5 = {1, 0, 0, 2};

prob3 = {1/Sqgrt [2], 1-1/Sqrt [2]};
patA = {1, 0, 1, 0};

patB = {0, 1, 0, 0};

Pat t er nExpect edTi ne [pat 1, spl, {1, 1}]

20

Pat t er nExpect edTi ne [pat B, {1, 0}, {1, 1}]

18

Pat t er nExpect edTi e [pat 2, spl, {1, 1}]

16

Pat t er nAddi ti onal Expect edTi ne [pat A, patB, {1, 0}, {1, 1}]

20

Pat t er nAddi ti onal Expect edTi ne [pat B, patA, {1, 0}, {1, 1}]
8

Pat t er nAddi t i onal Expect edTi me [{1, 0}, {1, 1, 0}, {1, 0}, {1, 1}]
0

Patt ernFi rst ConeQut Probabi ity [{{1, 0}, {1, 1, 0}}, {1, O}, {1, 1}]

Pat t er nFi r st ComeQut Probabi ity [{{1, 0, 0}, {1, O, 1}, {1, 1, 0}}, {1, 0}, {1, 1}]

9 1 1 1
a7

Pat t er nFi r st ComeQut Probabi lity [{{1, O, 1, 0}, {0, 1, 0, 1, O, O}}, {1, 0}, {1, 1}]

Pat t er nAddi ti onal ExpectedTime [{1, O, 1, 0}, {O, 1, O, 1, O, 0}, {1, 0}, {1, 13]

4

Pat t er nAddi t i onal Expect edTi me [{0, 1, 0, 1, 0, O}, {1, O, 1, 0}, {1, 0}, {1, 1}1]
56
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2| PatternCalculation.nb

PatternFirst ConeQut Probabi lity [{{1, 2}, {O, 1, 1, 2}, {2, 1, O0}}, {2, 1, 0}, {1, 1, 1}]
81 218 25 2
{H' 297" 207’ H}

Pat t er nAddi ti onal Expect edTi e [{2,

=

0, 0, 1}, {2, 1, 0, 0}, {1, O}, {1, 131

=

Pat t er nAddi ti onal ExpectedTime [{1, 1, 0}, {1, 0}, {1, 0}, {1, 1}]

8

Pat t er nAddi ti onal Expect edTi ne [{1, 0}, {1, 1, 0}, {1, 03}, {1, 1}]
0

Pat t er nAddi ti onal ExpectedTinme [{1, O, O, 1}, {1, O, 0}, {1, 0}, {1, 13}]

10

Pat t er nAddi ti onal ExpectedTime [{1, O, 0}, {1, O, O, 1}, {1, 0}, {1, 1}]
-2

Pat t er nAddi t i onal Expect edTi me [{1, O, 0, 1}, {1, 0, 0, 1}, {1, 0}, {1, 1}1]
0

Patt ernFirst ConeQut Probability [{{1, O, 0, 1}, {1, O, O, 1}}, {1, 0}, {1, 131
(18, 1, 0}

Patt ernFirst ConeQut Probability [{{O, O, 1}, {1, 0, O, 1}}, {1, 0}, {1, 13}]
5 3

8, — =

{8 5 3

Pat t ernFi r st ConeQut Probabi lity [{{1, O, 0, 1}, {0, O, 1}}, {1, 0}, {1, 13]
3 5

o 2 2)
8 8

Pat t er nAddi ti onal ExpectedTi e [{0, O, 1}, {1, O, O, 1}, {1, 0}, {1, 1}]

0

PatternFirst ConeQut Probability [{{1, O, 0}, {1, 0, O, 1}}, {1, O}, {1, 13]
(8, 1, 0}
Patt ernFi r st ConeQut Probabi l ity [{patA, patB}, {1, 0}, {1, 1}]

90 9 5
(7w
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